DU BEd Special Education Mental Retardation

Topic:- SEMR BED A

1) How many States and Union Territories are there in India?

ATLa ® fraa sy T Fgamfaa wao €2[Question ID = 12181]

29 States and 9 Union Territories/29 7159 &7 9 FzeIi#a 7347 [Option ID = 48722]
29 States and 7 Union Territories/29 7197 &7 7 Fzamiaa 7297 [Option ID = 48723]
28 States and 8 Union Territories/28 7157 517 8 Fz9miAd 7a¢T [Option 1D = 48724]
28 States and 9 Union Territories/28 7157 317 9 Fz9TiAT 7297 [Option ID = 48725]

B T R

2) Who won the best actor award at the Dadasaheb Phalke International Film Awards 20217

TTATHTET BTed dAaCiT Feew e 2021 § 999y atfraar &1 geear fFaa sftar?[Question ID = 12182]
. Deepika Padukone/#TT=T 915%™ [Option ID = 48726]

Tapsee Pannu/aTT#HT 7 [Option ID = 48727]

Kangana Ranaut /39T 7517 [Option ID = 48728]

Vidya Balan/f&=m a1 [Option ID = 48729]

-h'-\-"l‘-"-—-‘

3) Who amongst the following declared the speech ‘A Target with Destiny’?

frafafaa & & fras wrow &1 9197 919 F87 TrivT FFI1?2[Question ID = 12183]
. Pandit Jawahar Lal Nehru/9f2d sare7=1= 2= [Option ID = 48730]

Babasaheb Dr. B.R. Ambedkar/am=maT2a =1, aT1.517. 5%==F7 [Option 1D = 48731]

Dr. A.P.J. Abdul Kalam/=t. .t 3 srsger=mw [Option ID = 48732]

Sardar Vallabhbhai Patel/a75T¢ F=75THTE T2+ [Option ID = 48733]

.ht.uh-J—-A

4) Which of the following sportsperson did not receive the Rajiv Gandhi Khel Ratna Award, 2020?

faafafaa & @ fea faardt &1 asfia aidt @@ gee=e, 2020 78T fAa1?7[Question ID = 12184]
. Shri Rohit Sharma - Cricket/1T2 T - 3= [Option ID = 48734]

Ms. Manika Batra - Table Tennis/®Ti=T 397 - Za=2=7 [Option ID = 48735]

Shri Mariyappan T. - ParaAthletic/®frama=. & - f7rryw=feF [Option ID = 48736]

Ms. Dutee Chand - Athlete/g# == -9+f1= [Option ID = 48737]

.hwh-J-—A

5) Which of the following temples in India is, also known by the name ‘The Black Pagoda’?

#1T ® frafafas & & st7 ar9R< g sd5 dmer & 917 @ ot 797 s7a7 §2[Question ID = 12185]
. Tirupati Balaji Temple, Andhra Pradesh/ T =i am=TT 657, stawa=41 [Option ID = 48738)

Gomateshwar Temple, Karnataka/# a7 #f%7, F1=F [Option ID = 48739]

Konark Sun Temple, Orissa/FT0IT# 4157, IE4T [Option ID = 48740]

Meenakshi Temple, Tamil Naidu/#=TeT w3, aff=m=rz [Option ID = 48741]

-hLHM--*

6) ldentify the theme of the ‘Earth Day’ celebrated in 2021.

2021 § gATT TC gt fEaq & freq 7 98979 < [Question ID = 12186]
1. Eliminate Action/FT¥aTZ F1 22T % [Option ID = 48742]

2. End Plastic Pollution/=rf2=+ T 7917 F¢ [Option ID = 48743]

3. Protect our species/Z9Tt waTfaai FT 747 F7 [Option ID = 48744]

4. Restore our Earth/gamt gt 1 geaifia ¢ [Option ID = 48745]

7) Which one of the following is not correctly matched?

frrafafag # & w17 a1 9&€ gafora 71 82[Question ID = 12187]
Vishu - hssamfﬁr—‘{[ #9H [Option 1D = 48746]

Kutch - Utsav - Gujarat/#F== - 37999 - TT71a [Option 1D = 48747]

Ugadi - Karnataka/33m=T - FA7=2% [Option ID = 48748]

GudiPadva - Maharashtra/f[Z7z4T - 521712 [Option ID = 48749]

.Lh.lh.l-—-ﬁ

8) Which of the following countries shares the shortest border with India?

frafafaa & & 19 97239 9137 F 979 998 FrET AT GTAT FIGT §2[Question ID = 12188]
. Bhutan/+1Z1= [Option ID = 48750]

Myanmar/=mH17 [Option ID = 48751]

Afghanistan/ saTfA+a1= [Option ID = 48752]

Nepal/=7T+ [Option ID = 48753]

.hl..n.lh.l-—t
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9) ‘SWAYAM’ is a

'SWAYAM’ T% g[Question ID = 12189]

1. MOOC plate form offering various online courses for school education and higher education. /==t firar «fw zgioraT % o BAfas atverza et 1
TS FA 7T MOOC =i=%d [Option ID = 48754)

2. ‘Rashtriya Avishkar Abhiyan’ for motivating and engaging 6 - 18 years children in science, maths and archeology. /=T, T0a v TEa H 6 7
18 #19 % ag F1 AT F74 A7 749 Fo F o0 77907 snfawH wfagm [Option ID = 48755]

3. Digital infrastructure platform for supplementing learning materials for students and teachers. /=T S foreri & o forer Ardt F 70%F & &0
fefSrem afFard =7 5= [Option ID = 48756)

4. National repository of open educational resources. /¥ #fars saTa=T %7 7787 W=7 [Option ID = 48757]

10) What is the Theme of ‘National Technology Day’ 20217

“xrta et faag” 2021 &1 ffre7 #3978 [Question ID = 12190]
1. Science and Technology for a sustainable future/T® 77 wiaw F o7 & =T wr=ntaEr [Option ID = 48758]
2. Restart and Recycle/ 7T+ F+3017 Fama#7 %7 [Option ID = 48759]
3. Atmanirbhar Vigyan/#r=wfa++ &= [Option ID = 48760]
4. Science and Technology for Atmanirbhar India/sreaf ¥ wrea % o f=re v gt=nffr [Option ID = 48761]

11) A carbon footprint -

t{'ﬂﬁ %74 7 Tefea[Question ID = 12191]
is a byproduct of climate change extreme precipitin and acidification and warming of oceans. /ST THad" F AeATUF ATET AT FETEANET F AT
FIO7 37 W 219 F1 I £ [Option ID = 48762]
2. is the total amount of greenhouse gases that are generated by an individual event, organization, service place or product. /&t =TT 7=1,
IS, TEATEAT AT T 5197 Serd fiAgrea it £ = 7rar & [Option 1D = 48763]
refers to the amount of gases product in a petroleum refinery. /TZferag Freradt & %7 3eams ' grar #1 92049 #7471 £ [Option ID = 48764)
4. relates to the bio - chemical change caused in the environment as a consequence of pollution. /95T & s sy waiavor § g1 a1 Sta-vrrafas

afraas & #=faa & [Option ID = 48765]

[¥F]

12) Sugamya Bharat Abhiyan focuses on

g AT FFwarT #a g:[Question ID = 12192]

1. Developing initiative in a mission mode in various sectors to facilitate ‘National e-Governance Plan’. /7T -wrada Tran &1 @ore g7+ & forr e
gt # fyer oz # wger st #5371 [Option ID = 48766]

2. Developing the accessible physical environment transportation system and information and communication eco system for persons with
disabilities. /q=rq 9Tfa® waiEew Ti"ga Wl o7 g=97 7 #=977 TAiEew woret EESnT =it #1 @ #7AT [Option 1D = 48767

3. Creating a digital network to ensure easy availability of various services to all sections of the society. /70T & #dT 7911 # o =i F=amat 4 s
FUARAT AT T F2 F o7 mF 2oes 9295 a7 [Option ID = 48768]

4. Infrastructure development for developing a large high speed train network inter connecting major cities in different parts of India./w17a ¥ f&fa=
AT ¥ I 91271 FT AMTH § A2 919 UF 92 e 29 4237 F 35w F o gf93md 21 [Option ID = 48769]

13) ‘Operation Sanjeevani’ refers to

'HIX AT Hfra= F1 v g[Question ID = 12193]

1. Emergency measures taken by Government of India to upgrade health infrastructure in the country during the covid -19 pandemic. /9md #7F17 31T
FIE2-19 HSHET T 3009 297 7§ =174 F Tl 209 & 397 F9d & (o007 210 70 A1+ 19 3979 [Option 1D = 48770]

2. Public Private Partnership initiatives to ensure quality health services for rural areas. /TaTHI™ 2= F 2T or==T T 72T HAT qiATET F00 F 0
ATEATE Fefl A= #7987 [Option ID = 48771]

3. Air- lifting of medical and hospital consumable for Maldives by Indian Air Force as assistance in fight against covid -19./Fif3=-19 % fa=rs 7=z &
TETAT & =9 § ATA T ATIEAT 51T AT= = & o goareg Ffemn s e #1241 af=g7 [Option ID = 48772]

4. Universal health care plan (Ayushman Bharat) that provides poorest people to free healthcare to treat serious ailments. /AT i = v
AT (Aot wred) St e St # savs # Fre g affe S e e §41 999 #5949 [Option ID = 48773]

14) Which of the following storms hit the Arabian Sea in May 20217

frafafag d & FITITTEE AT 2021 | < T & THTATQuestion ID = 12194]
. Amplan/TF=A19 [Option ID = 48774]

Vaas/ardT [Option ID = 48775]

Tautei/dT5 [Option ID = 48776]

Nisaga/f==1=1T [Option ID = 48777]

Aol B

15) Which of the following films won three Oscars including Best Picture at the 9379 Academy Award?

frafafaa ® @ fea frea /939 rwredt gres § g9y fax wfga e sitewt Sfid[Question ID = 12195]
. Nomadland/9#q ?ﬁ# [Option ID = 48778]

Promising Young Woman/2Hz EEL wfg=r [Option ID = 48779]

Sound of Metal/uTq # e [Option ID = 48780]

Minari/91=T¥ [Option ID = 48781]

.l‘.‘;l..l.lh.'l-—ﬁ

16) Which of the following oceans would be covered by the new sea route ‘Polar Silk Road’ being built by China?

faafafaa § 8 S19 a1 ATTATTT AT T TA7C 7 @ ¢ A 7 ara fres O & srsarfya grm?[Qu

= 12196] .
coliegedunlas
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Arctic and Atlantic/ % T=F 3T w==1T=F [Option 1D = 48782)]

Pacific and Atlantic/weTid #fiT stz=11f=F [Option ID = 48783]

Pacific, Arctic and Atlantic/ws1ia, @r#f== #iv s==f=F [Option ID = 48784]
Pacific, India and Atlantic/ws1ie, AT7T #tv w==1f=+ [Option ID = 48785]

o bt Bt —

17) What is the cause of COVID-19?

COVID-19 &T T F4T & [Question ID = 12197]
Bacteria/TF1T7aT [Option |1D = 48786]

Virus/=ma+T [Option ID = 48787]

Fungus/F=F [Option ID = 48788]

Allergy/T==T [Option ID = 48789]

o bad P —

18) How much time was taken to write down the Indian Constitution?

w117 @ g #71 foras & a7 ¥97 997 [Question ID = 12198]
3 years 11 months 18 days/3 5= 11 W21 18 =7 [Option ID = 48790]
5 years 11 months 18 days/5 @1+ 11 #2418 f57 [Option ID = 48791]
2 years 11 months 18 days/2 @7+ 11 g£1= 18 %7 [Option ID = 48792]
4 years 11 months 18 days/4 @< 11 w#4 18 f57 [Option ID = 48793]

kst P —

19) Select the word pair that has the same relationship as between the given words. Sprint: More

IH AT LI FTI4IT $L (qHT G99 fEg 7C aors8f & &t 9977 g Sprint: More
[Question ID = 12199]

1. Dream: Fantasy
[Option ID = 48794]
2. Joy: Euphoria
[Option ID = 48795]
3. Chatter: Talk

[Option ID = 48796]
4. Smile: Laugh

[Option ID = 48797]
20) Choose the wrong term of the series. 8, 14, 26, 48, 98, 194, 386

SEAT FTIAT IS L4 8, 14, 26, 48, 98, 194, 386[Question ID = 12200]
. 26 [Option ID = 48798]

48 [Option ID = 48799]

98 [Option ID = 48800]

194 [Option ID = 48801]

o had P —

21) Shailja walked 15 meters towards south. She then turned towards south and walked another 20 meters. How much
minimum distance, she needs to cover to reach her starting point?

gtersir afdror &Y v 15 HreT gt fee ag afdror #Y ara g sire 20 e e g+t 3@ v s fag 9% og= @ forg Pt

AT 0 79 FIAT grt?[Question ID = 12201]
1. 25 meters/25 #1=7 [Option 1D = 48802]
2. 30 meters/30 H#t=7 [Option ID = 48803]
3. 32 meters/32 H#t=7 [Option ID = 48804]
4. 35 meters/35 #1=7 [Option ID = 48805]

22) 7"February, 2020 happens to be a Wednesday. Which day of the week would be on this date 5 years from now?

7 ®CaLY, 2020 FT LGATLE AT F 5 a9 97T 9 FAfr &1 a87g F7 F¥7 97 F¥7 1?7[Question ID = 12202]
Tuesday/H5T==17 [Option ID = 48806]

Thursday/f[#=1¥ [Option ID = 48807]

Friday/«#=1¥ [Option ID = 48808]

Saturday/#rfH=T17 [Option ID = 48809]

e bl B =

23) In this question, a set of given statements is followed by a set of conclusions. You have to decide which of the
conclusion logically follows on the basis of information given in the statements.

Statements: All research scholars are hardworking.
Some hardworking are successful.
Conclusions:

1. Some successful are hardworking.
2. All successful are research scholars.
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Mark your answer as

T, RuausgAi R us AR qrafaoaat Frus az RFT7972 arowY g a7 FTAT § O wAT & S v qrAwrd B
AT I FH17 G717 Frewd qrfFs €9/ agaor s3a1 8

FAT: AT MrATHT AZAATE [F AGTAT AFA E1a ©
frrsa:

| §F O AETAT &

Il a4t % Fad wwiac g

Fqa 3T HT FHfeag w3

[Question ID = 12203]
1. If only conclusion | follows/TT% Fa e | A7 F7aT1 &

[Option ID = 48810]
2. If only conclusion Il follows/of% Fa= faesed || sgaeo wvaT

[Option ID = 48811]
3. If both conclusions | and Il follow/a% =t | 37 || FAT A7 F79 7

[Option ID = 48812]
4. If both conclusions | and Il do not follow/=fZ fAend | siiwl| Z=T a7 7 F9 2

[Option ID = 48813]

24) In this question, a statement is given followed by two assumptions | and Il. You have to consider the statement and
mark which of the following assumption is implicit in the statement?

Statement: No person without valid qualifications was appointed on the post during 2018-2019.
Assumption I: All qualified persons with valid qualifications were appointed on the post during 2018 - 2019.
Assumption II: Person without valid qualifications were unemployed during 2018 - 2019.

Mark your answer as

THYT R TF F99 FRFAT 797 ¢ oD I3 7 & greod | AN T AL § swroFT F97 9 A A ¢ s shragrar g
frafafaa & @ Fta T aeorsaa @ fafga 22

FYT: 2018-2019 # 2TIT a9 AT & faar et ot =vfw 1 oz g fagw 7 frarrar 971
HTTOIT |: &g Fr3gar a1 ot N7 FfReFT w7 2018 - 2019 F v+ v o fags fraragr a7
gTTOT I1: 2018 - 2019 & YT a7 I7gar # faar=xiw s g

[Question ID = 12204]
1. If only assumption | is implicit/=f2 == g | Fiza 2

[Option ID = 48814]
2. If only assumption Il is implicit/=f% F== grom || Ffza 2

[Option ID = 48815]
3. If both assumptions | and |l are implicit/=f= Z1=T greom | &7 || BT #

[Option ID = 48816]
4. If neither | nor Il is implicit/afZ 7 a7 | #w 7 21 || Rfga &

[Option ID = 48817]

25) An orange color cube is cut into 125 cubes of equal size. What would be the number of cubes which are pointed on
one face only?

TF AT ITH TF FTAATT ARTTH 125 71 H FTSTATATE F99 TF FOF T3 107 (6T T F77 F1 €T FIT 1172

[Question ID = 12205]
1. 24

[Option ID = 48818)
2::36

[Option ID = 48819]
3. 48

[Option ID = 48820]
4. 54

[Option ID = 48821]

26) In this question, a problem is asked followed by two statements | and Il in which certain data are given.
You have to decide if the data given in the statements are sufficient in answer the problem.

Problem: Is mn greater than m+n?

collegedunia:
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Statement I: m+n =16

Statement |I: Both m and n are positive quantities Mark your answer as

AR T FATIMTN R AT CF aRegT gAY vE 2 Forod g5 oiwe Ruacd

FrawT fAvfg a7 § % w997 7 fRIragrerer aueqr F13I9C 27 F forg gofa g av =gt
THEAT: FIT mn, m+ n & TET &?

T 1: m+n =16

F7 11: m 3T n TTT ATHF ATATY & oryw I FY Fyfeeaa w3

[Question ID = 12206]
1. If data in statement | alone is sufficient/=f= F3= F97 | § T27 7979 2

[Option ID = 48822]
2. If data in statement Il alone is sufficient/ofs Faa Fa7 || F T=r 797 &

[Option ID = 48823]
3. If both statements taken together are required /a2 FHT F4+T 1 U ATg Forgy F47 S99 &

[Option ID = 48824]
4. If both statements | and Il are not sufficient to answer the question/af% F9+ | 7 Il 147 2 T=7 F1 397 34 F o0 ooty =4 §

[Option ID = 48825]

27) In this question, a statement is followed by two arguments | and Il.
You have to decide whether the given arguments are strong.
Statement: Should access to social media be banned for young children?

Argument |: Yes, research affirms that the use of social media has led to an increased feeling of anxiety and depression in
young children.

Argument II: No, social media is not only a too, to communicate but also helps children pick up necessary technical skills
they need to navigate their way in future.

Mark your answer as

AV R UFFIA R qTI A0 T5 | ste 1l fagag €

ATHT 77 HAT & P g g o worga § arad

FT: FYTEre g1 3 g araa Afar g og= vfos e i afiRe

T® 1 g1, Arg 57 477 F1 (FE wLar g I aras fifTgr s sona @ e aqi 7 Far shcqaarr s Aaraarag 0 g

& |l g1, Traa FIRAT T FIA AT 7 3 T afoF 99T F7T 775 TFAFT FIIT A7 F AT AIT FLATE, S78 AIF a4 &
Afate F A ArFEAFAT R

Fq4 I F 1 Fuafeaa w3

[Question ID = 12207]
1. If only argument | is strong/oT% F3« 7% | A947 &

[Option ID = 48826]
2. If only argument Il is strong/=f% F3= a5 || g7 2

[Option ID = 48827]
3. If both arguments | and Il are strong/=f% 7% | 3% || =91 7997

[Option ID = 48828]
4. If neither | nor Il is strong/af= 7 77 | &< 7 21 || As4T 2

[Option ID = 48829]

28) Starting from their homes in opposite direction at 4 pm Priyanka and Parineeti met at a crossing and started talking to
each other face to face. If Parineeti's shadow was seen to the right of Priyanka, which direction was Priyanka facing?

FI= I/ ATH 4 T Frodia frar 7 g s ot ity vs $6T 9 s s gs-gar & syaa 979+ 979 $9 @90 iy ity
FT gL EwT & v A E Sre 9 rIdwr w7 @ ha frar# qan

[Question ID = 12208]
1. North/39%

[Option ID = 48830]
2. South/=femr

[Option ID = 48831]
3. East/7d

[Option ID = 48832)]
4. West/qfery
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[Option ID = 48833]

29) Find the missing term of the series.

Y3D2F, W4C4l, U5B8L, 56A160, ?

FEAT FT qH 9 1T HIT9C-
Y3D2F, W4C4l, U5B8L, 56A160, ?

[Question ID = 12209]
1. R7Z24R

[Option ID = 48834]
2. QBE30P

[Option ID = 48835]
3. Q7Z32R

[Option ID = 48836]
4. RBE28Q

[Option ID = 48837

30) In a family of 30 people, there are 12 children and 15 family members are vegetarian. Find the number of adults who
are non - vegetarian, if 7 children are vegetarian?

30 A1 & afRE H 12 99 € stc af@am & 15 ageq ararerdt § ATATeTd a9ehi #1 g&qr 777 wrfvrg, af¥ 7 ag arm=wgrd €2

[Question ID = 12210]
1. 8

[Option ID = 48838)]
2. 10

[Option ID = 48839]
3. 12

[Option ID = 48840]
4. 14

[Option ID = 48841]

31) Pointing to Neeraj, Kavita said “ His Mother’s brother is the Father of my son Pramod.” How is Neeraj related to
Kavita?

AT #T AT TATT F@ T FIAAT T FZT1, "I ATATFT ATE AR OF w91 #7 fyar @ " e wf¥4ar @ #& &g 2[Question

ID=12211]

Niece/ 9=t [Option ID = 48842]
Nephew/ a=T=T [Option ID = 48843]
Sister-in-law/4T4T [Option ID = 48844]
Sister/@#= [Option ID = 48845]

o bl B —

32) How much time does the Minute hand gain over the Hour hand in 24 hours?

24 92 § gz At gf 92 1 g 9 Fradt arTanrdt 82[Question ID = 12212]
1. 20 times/20 =T [Option ID = 48846]
2. 16 times/16 717 [Option ID = 48847]
3. 12 times/12 717 [Option ID = 48848]
4, 22 times/22 317 [Option ID = 48849

33) ARUNA ranks 12thin a class of 46. What will be her rank from last?

HEUT 46 FT FHTH 127 vq79 9L 2?2 F 4w & IFT & F77 g1t [Question ID = 12213]
33 [Option ID = 48850]
34 [Option ID = 48851]
35 [Option ID = 48852]
37 [Option ID = 48853]

Lt B =

34) Complete the series 110, 132, 156, 182, .......

ﬂ'lﬁlT 110, 132, 156, 182, ........ Elﬁ"{jfr FL[Question ID = 12214]
1. 212 [Option ID = 48854]
2. 201 [Option ID = 48855]
3. 211 [Option ID = 48856]
4, 210 [Option ID = 48857]

the
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35) During the early morning walk, Shubhra met her friend coming from the opposite direction. Shubhr



shadow of her friend to her right. Which direction was Shubhra facing?

qag F AT A v qut roda frar @ o < saot a3t & et qur F 29t iy st ag«dt &t ogrd sad arfgAt e d

et T HE fa frar & 91?2[Question ID = 12215]
1. North/3¥¥ [Option ID = 48858]

2. North Eastf-“s'ﬁ‘?—’jjé [Option ID = 48859]

3. South/zfér [Option ID = 48860]

4. South east/zfrT-94 [Option ID = 48861]

36) The average of 7 consecutive numbers is 20. The largest of these number is :

AATATE 7 G&qTaA FT A TT 20  TTH & 998 T d&41 g2[Question ID = 12216]
24 [Option ID = 48862]
23 [Option ID = 48863]
22 [Option ID = 48864]
20 [Option ID = 48865]

bl B =

37) If the edge of a cube is increased by 100%, then the surface area of the cube is increased by

TfE et a7 ® AT F7 100% T87 FRIT ST, 7 97 F7TUHT 76 (a7 T5 9797 22[Question ID = 12217]

100% [Option ID = 48866]
200% [Option ID = 48867]
300% [Option ID = 48868]
400% [Option 1D = 48869]

Lt ) =

38) A and B can do a work in 12 days; B and C can do it in 15 days and C and A can do it in 20 days. In how many days
three together can do the work ?

ARNTBTF FTAFT 12 a1 o FTaFa & ST AT I/ 15 feat & v asa AT ar shr v @ 20 A1 & FLgF & 947 Frarse

ITFTH F1 Fad faaT & T a3 € [Question ID = 12218]
1. 10 days/10 &= [Option ID = 48870]

2. 20 days/20 2= [Option ID = 48871)]

3. 5 days/5 =7 [Option ID = 48872]

4, 8 days/8 757 [Option ID = 48873)

39) The mean of first 8 observation is 18 and that of last 8 observation is 20.

If the mean of all 15 observations is 19, the 8t observation is

TgH 8 X FT HTEY 18 AT o faw 8 Xegor F174re7 20 § TfY AT 15 YAt F7 w4187 19 ], 7 877 Feyor 27

[Question ID = 12219]
17

[Option ID = 48874]
2. 18

[Option ID = 48875]
3. 19

[Option ID = 48876]
4. 20

[Option ID = 48877]

40) An express train travels a distance of 420 km at uniform speed. When increasing its speed by 10 km/ hr it takes one
hour less for the same journey. The original speed of the train is :

TF TFAAT 29 CH THTH 70 & 420 frdt ¥ gh gz st ¢ saodr afg &7 10 fedt/ger g arag s€T a1/ us Hersq

FRT AT 8 7 AT g wf¥ 8:[Question 1D = 12220]
1. 45 km/ hr/45 fd7/ ==1 [Option ID = 48878]
2. 50 km/ hr/50 Ffr/ == [Option ID = 48879]
3. 60 km/ hr/60 ffr/ =T [Option ID = 48880]
4. 55 km/ hr/55 fft/ =7 [Option ID = 48881]

41) In a mixture weighing 50 kg, the ratio of Copper and Zinc is 3:2. Another 5 kg of Zinc is added to the mixture the new
ratio of copper to zinc is

50 frar AT are firsror § wie o s w1 agura 3:2 8 Py 7 aive 5 foet Rrs Rrarar srar €, staeste s sraarn

#TITT & :[Question ID = 12221]
1. 6:05 [Option ID = 48882]
2. 5:06 [Option ID = 48883]
3. 3:04 [Option ID = 48884]
4. 4:03 [Option ID = 48885]
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42) Ms. Lakshi sold her bag at a loss of 7%. Had she been able to sell it at a gain of 9%, it would have fetched ¥64 more
than it did. The cost price of the Bag is :

TEAT A AGAT T 7% Fr rivoc =7 AfE I T8/ 9% R ATH UL A9 | T H gral, 97 IF 399 64 v9F Ff&= 74 g§rd T F1

AT A= §?[Question ID = 12222]
£400 [Option 1D = 48886]
%420 [Option ID = 48887]
%350 [Option ID = 48888]
%600 [Option ID = 48889]

B T

43) Given four distinct points, no three of them are collinear. Then the number of lines that can be drawn through them is

HIT AAT-AAT fagat Y @ g, I8 @ 5 of 7 fv77 4@ 7gf § 99 I9% A8y § &= A7 FHA FUAT LGTA FY GEAT

#[Question ID = 12223]
1. 2 [Option ID = 48890]
2. 6 [Option ID = 48891]
3. 4 [Option ID = 48892]
4. 8 [Option ID = 48893]

44) The median of a Triangle divides it into what two types?

U Bras &Y Arfdgsr 1@ 7 w19 w117 & Brge F RFrarfrg 57t @ [Question ID = 12224]
. Triangles of Equal Area/¥ |7 &%+ a7+ == [Option ID = 48894]

Congruent Triangles/#aT\H = [Option ID = 48895]

Right Triangles/#Aa=r f=rqs [Option ID = 48896]

Isosceles Triangles/# a1z FFras [Option ID = 48897]

.h.LAJHv-—#

45) In a Cylinder, Radius is doubled and height is halved, new curved surface area will be

uF a7 & Brogr gt she = swet < It 2, AT awq ST 7w F97 AT Question ID = 12225]

1. Halved/=m4T [Option ID = 48898]

2. Doubled/aT"AT [Option ID = 48899]

3. Same/@ET [Option ID = 48900]

4, Four times/=17 [T [Option 1D = 48901]

46) The angles of a quadrilateral are in the ratio 3:5:9:13.

All the angles of the quadrilateral in degrees will be

THF AqET B F17 3:5:9:13 P qura & §  Fgefor & a«ft Fror faft & giae
[Question ID = 12226]
1. 36, 60, 108, 156

[Option ID = 48902]
2. 36, 60, 118, 156

[Option ID = 48903]
3. 36,70, 108, 156

[Option ID = 48904]
4. 36, 70, 118, 165

[Option ID = 48905]
47) Find the greatest number that will divide 43, 91 and 183 so as to leave the same remainder in each case.

g 998 T gogr Ara AR AT 43, 91 37183 FY FArarfora 72 arfs w35 fRafy & ga17 47 W@ [Question ID = 12227]
7 [Option 1D = 48906]

4 [Option ID = 48907]

19 [Option ID = 48908]

. 18 [Option ID = 48909]

b R —

48) Simple interest on a certain sum of money for 3 years at 8% per annum is half the compound interest on Rs. 4000 for 2
years at 10% per annum. The sum placed on simple interest is:

u# fafsaa rfer o 3 a9 & fore 8% wfer a9 %1 T/ wrgTTw 3T, 4000 €77 9% 10% wivad awafE sarer 2 e & fog, =7

AHTE ATHTI ST 9T TET 7% W7 F47T :[Question ID = 12228]
1. 2000 [Option ID = 48910]
2. 1650 [Option ID = 48911]
3. 1750 [Option ID = 48912]
4. 1500 [Option ID = 48913]

r?

49) 4/15 of 5/7 of a number is greater than 4/9 of 2/5 of the same number by 8. What is half of that num
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freY d&aT® 5/7 T 4/15, ST HE&ATH 2/5 % 4/9 | 8 oAfUF § I9 G&IAT FT AT F4T ?2[Question ID = 12229]

bt ) =

314 [Option ID = 48914]
311 [Option ID = 48915]
315 [Option ID = 48916]
316 [Option ID = 48917]

50) Mohan buys a pen for ¥12. If the shopkeeper’s cost price is ¥100 and the shopkeeper and wholesaler earn profit at

equal rate, then their percentage of profit is:

ATET 12 H UH AT @A1 g 1 GRS HTHT 77 X100 € T THTTR0C AT ATH AT FATT ITH ATH FT0T FLQ g ¥

IT% ATH FT Ifrera #7471 §:[Question ID = 12230]

B T R

51) The instrument that can be used to find the direction while travelling in air is

g a7 & gar & 17 $3d 997 fRar &1 gar a7 # Fro w70w g ST EFar € -[Question ID = 12231]

1.
2.
3.
4.

52) What is the purpose of honey bee sitting on the flowers?

AEAFET F GAT qCA3T & TS FITIRLT {ATR ?

10% [Option ID = 48918]
11% [Option ID = 48919]
9.50% [Option ID = 48920]
8.50% [Option ID = 48921]

Spectrometer/TIFZrH1=Z7 [Option 1D = 48922)
Compass/F¥H [Option ID = 48923]
Ammeter/#HT=7 [Option ID = 48924]
Voltameter/a==#1=7 [Option ID = 48925]

[Question ID = 12232]

T:

They lay their eggs/=T 5774 #2 ZAT 2
[Option ID = 48926]

They create a unique perfume from the flowers/3T |1 & UF =7 W17 % == F1 Fafor w741 2

[Option ID = 48927]

They suck nectar from flowers/3T |AT 7 7Y FT TAAT 7

[Option ID = 48928]

It helps them hiding from their predator/@g 378 s T0qeft & 741 & TETa1 F947 2

[Option ID = 48929]

53) Rachna, as a part of her experiment, tied a transparent polythene cover around the leaves of a plant and observed
that after some time she could see few drops of water on the inner side of the polythene bag. According to you, what could

be the possible reason behind her observations?

THAT A AIF TF TAIT R I I CH 908 #17 7F2077 77 vF qregd qiferdta o & o5 fyar st 55 997 918 stgaiswT

frgr stz qiferdte @7 & srd s fRed & ordt & 17 ¥ 2t 1R A IR qFFET * T FI7 FTC7 QT AAT?
[Question ID = 12233]

1.

Photosynthesis/waTer dmr

[Option ID = 48930]
Imbibition/=: st

[Option ID = 48931]
Transpiration /3T T

[Option ID = 48932]
Osmosis/Taa9amm

[Option ID = 48933]

54) 12 cm are equal to

12 g&rdteT Mwfatag & & fFa® sTsT87[Question ID = 12234]

b B =

1200 mm/ 1200 fa=frfi== [Option ID = 48934]
1.2 mm/1.2 fa=frdi== [Option ID = 48935]

12 mm/12 fa=freftzs [Option ID = 48936)

120 mm/ 120 f&=fdi=7 [Option ID = 48937]

55) Windis

Ty 2
[Question ID = 12235]

T

Air around us/EHT7 dreT T g47
[Option ID = 48938]
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2. Rising hot air/Z97 AT g% T 74T

[Option ID = 48939]
3. Air with high water vapour/#fir 7t a7+t Za7

[Option ID = 48940]
4. Air in motion/wfasfi= Zar

[Option ID = 48941]
56) In nature, we see leaves of different colors. The possible reason may be

vgfa & gw fafrs g ofvad 3ed € sesrdwg SFOr Er aFar § -

[Question ID = 12236]
1. Green leaves have chlorophyll while leaves of other colors do not have chlorophyl /&t af¥raf & F11The 21aT & Fae e 437 #7 afgf & F=r0he

[Option ID = 48942]

2. All the leaves have chlorophyl but leaves other than green in color have less amount of red, brown and other pigments/#+T 9= § F71HT 2197 &
AT B¢ 39 | A TFT H AT, GO TF A7 (UHE £ 7T F9 B0
[Option ID = 48943]

3. Irrespective of the color, all the leaves have equal amount of chlorophyl in them. /#12 |1 %31 21, @4t ot & avras grar § %= gAT 2

[Option ID = 48944]
4. All the leaves have chlorophyl but leaves other than green in color have large amount of red, brown and other pigments/@#t 7547 # F1T% 21AT &

T ¢ 9 | = qf=at § 7, 977 v w57 e £ 97 s gt 2

[Option ID = 48945]
57) The reason why laboratory thermometer cannot be used to measure the body temperature of 35 9C - 42 9C, is

TATATAT GATHTZT &' 35 OC - 42 OC w777 7797 & Forw warsr 78T Frar i1 a5 am, TORTHFICAE -

[Question ID = 12237]
1. The temperature range of laboratory thermometer is very small and it has a kink/sarrerrar aafdtzs £t aro dfrar ag7 9 2rdt £ v =08 w2 g

[Option ID = 48946]
2. The temperature range of laboratory thermometer is very high and it does not have a kink/TTrTeTaT GHTHIZ7 FiT qTT HAT TgT ATLF 201 7 T8 =47

[Option ID = 48947]

3. The temperature range of laboratory thermometer is equal to clinical thermometer and it does not have a kink/ TITTSITAT quTH =T F7 A7 H9T
FATHAFA TATHET F FI0E7 2140 & 7a 78 (& 987 2ar 2
[Option ID = 48948]

4. The temperature range of laboratory thermometer is equal to clinical thermometer and it has a kink/TarTsrm=T awidi=s 1 a7 #1871 FHfAF aqid=

[Option ID = 48949]

58) In coastal areas, the phenomena of sea breeze and land breeze is observed during day and night time respectively.
This difference between the two concepts is because of

TET TATHI § GYATT FHITTE 97 FHITHT FZATFHAM: 77 0F 77 & a7 § S A0t . g7 AT AFoqA780 F 0T FqA F7

FTTT ¢ -[Question ID = 12238]

1. Comparative difference in the amount of CO; in air above the land and sea/# ¥z 7= 97 % =97 ¥ 2471 # CO; F1 ATAT F &7 TAFTHF HAT FT ZHAT
[Option ID = 48950]

2. Comparative heating of air above the land and sea surfaces/ Hz UH 919 Adz] % FI7 il 24T F1 qAATHF =7 7 TH 7T [Option ID = 48951]

3. Comparative electric charge on air particles above the land and sea surfaces/THz U5 9«17 AFE] & 97 F 24T & FU1 T qAATHT (427 97 [Option
ID = 48952]

4. Comparative difference in the radiation of air particles above the land and sea /7 9z 7= 99 9981 ¥ T T 24T F T % 7eq FTFT0 § TAATHF 77
[Option ID = 48953]

59) Which of the following shows the correct description of an artery?

frafafas & & s17 s g7+ $7 9& SATeAT FIAT § ?[Question ID = 12239]

Thick walled, higher blood pressure, takes blood away from the heart/ =T Z1aT¢, SATeF 7 319, 77 F1 a9 4 37 o A1 = [Option ID = 48954]
Thin walled, low blood pressure, takes blood towards the heart/Ta=T =raT¢, f7& 75F =19, T 7 229 #1 @7 © TI?F'I‘ Z [Option ID = 48955]

Thick walled, low blood pressure, takes blood towards the heart/®T21 51+, 7% =% =@, 7% %7 =7 $7 @< 9147 £ [Option ID = 48956]

Thin walled, high blood pressure, takes blood away from the heart/Ta=ft Zr=7¢, @i+ 7% 719, 7% F1 224 § 57 7 o141 ¢ [Option ID = 48957]

.hr..uh.l-—a

60) Rohit and Sanya were playing with one mirror each. Rohit found his image to be erect and of same size whereas Sanya
found her image erect and smaller in size. This means that the mirrors of Rohit and Sanya are respectively:

UfggsizararATits s adw d aa @ 4 Ofgg &1 sawr vfvfaey drar g aur9 srwre &1 e fRar aafe arear s
sa&T wfafass @t vd a2 srsrewt et fRar 599 98 var «war g 6 Qfga shcarear & sfo s7a: € -

[Question ID = 12240]
1. Plane mirror and concave mirror/THa4 S99 TF FTd7 597
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[Option ID = 48958)]
2. Plane mirror and convex mirror/FHa =907 TF I T4

[Option ID = 48959]
3. Convex mirror and concave mirror/ 3w 399 7d Fae T

[Option ID = 48960]
4, Concave mirror and convex mirror/saa= 390 T& I« 00T

[Option ID = 48961]
61) Only a single yarn is used to make the fabric in

frafafag & @ fea § $UET a9 § F99 TF €T FTIIT 197 & ?2[Question ID = 12241]
. Weaving/d=Ts [Option ID = 48962]

Knitting/g4ms [Option 1D = 48963]

Ginning/#=AT [Option ID = 48964]

Spinning/#ATE [Option ID = 48965]

.hh.lh.:-—-x

62) Small, short-term changes that take place in the body of an organism, to overcome the small problems due to changes

in the surrounding are called

AHITE D Fraraxowr § qfegda ard F F1er g1 et Yt a2 arfagy #1 o 3 & forg fd aroft & aded 9 am=

FAFTHTITH TILad AT T Fgad e[Question ID = 12242]
. Adaptation/s{%= [Option 1D = 48966]
Hibernation/sqaTa#41 [Option ID = 48967]

Assimilation/ ATeATHFT0T [Option 1D = 48968]
Acclimatation /T3 %= [Option ID = 48969]

.h.wh.il-ﬁ

63) Which of the following correctly describes the relationship in between human beings and fungi respectively.

Human being: Fungi

et S FIAATTI CE FIF D AT R ST FT ST THILH IATAT § ?

HATAF:. 9%

[Question ID = 12243]
1. Heterotroph: Autotroph/T# Tt : =aTIeft

[Option ID = 48970]
2. Heterotroph: Saprotroph/T@ T : gaTret

[Option ID = 48971]
3. Autotroph: Heterotroph/=radrdt : woreft

[Option ID = 48972]
4. Autotroph: Autotroph/#=WardT ; F=HIHT

[Option ID = 48973]
64) Which of the following is a parasite?

frafafead 8 19 Tﬁﬁﬁ"\'ﬁ ?[Question ID = 12244)]
Pitcher Plant/fi=+ === [Option ID = 48974]

chhenfﬁﬁ'%# [Option ID = 48975]

Rhizobium/#TzfE=a [Option ID = 48976]

Cuscuta /#5521 [Option ID = 48977]

.h.l..l\.ll‘\.'lv—-k

65) Whereas Food is digested in the food vacuole of amoeba by digestive juices, cellulose is digested by the bacteria in

which of the following organs of ruminants?

ST AHTATH AT K7 9797 GTF FXRFHTF q79% TH@F 3 5T VAT R, AT FLA a7 A A/ AFEAT g7 A9qATH F7 4797

fawfafaa & 9 frg stw & Frar 27[Question ID = 12245]
. Oesophagus/ITH==T [Option ID = 48978]

Rumen/#H+ [Option ID = 48979]

Small intestine/@ =T @@ [Option ID = 48980]

Large intestine/@=T #fa [Option ID = 48981]

.hLAJHv—-h

66) Consider the following statements:
I. Rubber plant is Indigenous to Brazil.
Il. Brazil is the largest rubber producing country.

Which among the above statements is/are correct?
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fafafaasaracfa=rst:

I TACHATEATSHA FTHH ATt s

I AT TTLFTHIE FETICUTEF A8
ITAFH A RTATHFITHLIE?

[Question ID = 12246]
1. Only l/F37 |

[Option ID = 48982]
2. Only I/#Fa= 11

[Option ID = 48983]
3. Both | & Il/ZAT | 37 1

[Option ID = 48984]
4. Neither | nor I1/F 37T | = 7 21 11

[Option ID = 48985]

67) Which of the following rivers, there exist India’s agreement(s) with Nepal?
1. Mahakali

2. Kosi

3. Gandak

Select the correct option from the codes given below:

afafaad @ FdT a8, Aa R AT AT FTIANATATATS[E B2

1. HETHTAT

2. Frdt

3.7EF

=2 frerr g 7 @ gt Resrsraza N

[Question ID = 12247]
1. Only 1 & 2/F9 1 v 2

[Option ID = 48986]
2. Only 2 & 3/F9+ 2 #iv 3

[Option ID = 48987]
3. Only1 & 3/F3971 373

[Option ID = 48988)
4, All1,2&3/1,24+3

[Option ID = 48989]

68) Indian Standard time is determined by which of the following longitudes?

1oty Aras gy frafafas F @ e 2atac grar Mraffoa g s1aT 22[Question ID = 12248]
. 86.5°E/86.5 fZ3f1 £ [Option ID = 48990]
82.5°E/82.5 f=3ft € [Option ID = 48991]
84.5°E/84.5 f=3fT £ [Option ID = 48992]
85.5°E/85.5 T24fT ¥ [Option ID = 48993]

.hl.uh.l—-h

69) Which Constitutional Amendment gave right to education to children in India?

AT ® a1 #71 F2reqr &7 afarwr< pa & forgre & v grar faar 791?[Question ID = 12249]
86t /8647 [Option ID = 48994]
90th/90at [Option ID = 48995]
915t/91aT [Option ID = 48996]
. 97"/97a7 [Option ID = 48997]

L b R =

70) Which Among the following are the features of the Goods and Service Tax?
1. Uniform Tax Rates

2. No Cascading effect

3. Four-tier Tax Structure

4. No differentiation in Goods or Services

Choose the correct option from the codes given below:

fatfead st aradfrcdames Rdwae g ?
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1. HTT HTIL

2. F:1E FeR & wora Al

3. AT ETOT FTHTHAT

4. TAATHATH | HTE KINTT TEI

= e 52 A & ot Reer sraza Ao

[Question ID = 12250]
1. 1 & 2 only/1 37 2

[Option ID = 48998]
2. 1,2&3only/1, 2 #iv 3

[Option ID = 48999]
3. 2,3&4only/2, 357 4

[Option ID = 49000]
4. All1,2,36&4/1,2,3%4

[Option ID = 49001]

Topic:- SEMR BED B

1) Power and Possession have been central pursuits of modern civilization for a long time. They blocked out or distorted
the features of the western renaissance’ (revival) which promised so much for humanity. What people have been and are
still being taught to prize are money, success, control over the lives of others acquisition of more and more objects. Modern
social, political and economic system, whether capitalist, fascist or communist, reject in their working the basic principle
that the free and creative unfoldment of every man, women and the child is the true measure of the worth of any society.
Such unfoldment requires understanding and imagination, integrity and compassion, cooperation among people and harmony
between the human species and the rest of nature. Acquisitiveness and the pursuit of power have made the modern man
an aggressor against everything that is non-human, and exploiter and oppressor of those who are poor, meek and
unorganised, a pathological type which hates and distrusts the world and suffers from both acute loneliness and false pride.

The need for a new renaissance is deeply felt by those sensitive and conscientious men and women who not only perceive
the dimensions of the crisis of our age but who also realise that only through conscious and cooperative human effort may
this crisis be met and probably even overcome.

The author appears to be advocating which of the following approaches to be adopted by the society?

[Question ID = 12251]
1. Capitalistic

[Option ID = 45002]
2. Communist

[Option ID = 49003]
3. Humanistic

[Option ID = 49004]
4. Authoritarian

[Option ID = 49005]

2) Power and Possession have been central pursuits of modern civilization for a long time. They blocked out or

distorted the features of the western renaissance’ (revival) which promised so much for humanity. What people have been
and are still being taught to prize are money, success, control over the lives of others acquisition of more and more objects.
Modern social, political and economic system, whether capitalist, fascist or communist, reject in their working the basic
principle that the free and creative unfoldment of every man, women and the child is the true measure of the worth of
any society. Such unfoldment requires understanding and imagination, integrity and compassion, cooperation among people
and harmony between the human species and the rest of nature. Acquisitiveness and the pursuit of power have made the
modern man an aggressor against everything that is non-human, and exploiter and oppressor of those who are poor, meek
and unorganised, a pathological type which hates and distrusts the world and suffers from both acute loneliness and false

pride.

The need for a new renaissance is deeply felt by those sensitive and conscientious men and women who not only perceive
the dimensions of the crisis of our age but who also realise that only through conscious and cooperative human effort may

this crisis be met and probably even overcome.
Which of the following best describes the behaviour of modern man?

[Question ID = 12252]

1. Imaginative and sympathetic

[Option ID = 49006]
2. Cruel and greedy

[Option ID = 49007]
3. Conscientious and cooperative
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[Option ID = 49008]
4. Perceptive and creative

[Option ID = 49009]

3) Power and Possession have been central pursuits of modern civilization for a long time. They blocked out or

distorted the features of the western renaissance’ (revival) which promised so much for humanity. What people have been
and are still being taught to prize are money, success, control over the lives of others acquisition of more and more objects.
Modern social, political and economic system, whether capitalist, fascist or communist, reject in their working the basic
principle that the free and creative unfoldment of every man, women and the child is the true measure of the worth of
any society. Such unfoldment requires understanding and imagination, integrity and compassion, cooperation among people
and harmony between the human species and the rest of nature. Acquisitiveness and the pursuit of power have made the
modern man an aggressor against everything that is non-human, and exploiter and oppressor of those who are poor, meek
and unorganised, a pathological type which hates and distrusts the world and suffers from both acute loneliness and false

pride.

The need for a new renaissance is deeply felt by those sensitive and conscientious men and women who not only perceive
the dimensions of the crisis of our age but who also realise that only through conscious and cooperative human effort may

this crisis be met and probably even overcome.
According to the passage, why has modern men turned out as an enemy of everything that is non-human?

[Question ID = 12253]
1. He hates and distrusts other human beings

[Option ID = 49010]
2. Non-human have refused cooperation to human beings

[Option ID = 49011]
3. He has been dominated by drives of acquisitiveness and power

[Option ID = 49012]
4. He consciously practices spirit of cooperation

[Option ID = 49013]

4) Power and Possession have been central pursuits of modern civilization for a long time. They blocked out or

distorted the features of the western renaissance’ (revival) which promised so much for humanity. What people have been
and are still being taught to prize are money, success, control over the lives of others acquisition of more and more objects.
Modern social, political and economic system, whether capitalist, fascist or communist, reject in their working the basic
principle that the free and creative unfoldment of every man, women and the child is the true measure of the worth of
any society. Such unfoldment requires understanding and imagination, integrity and compassion, cooperation among people
and harmony between the human species and the rest of nature. Acquisitiveness and the pursuit of power have made the
modern man an aggressor against everything that is non-human, and exploiter and oppressor of those who are poor, meek
and unorganised, a pathological type which hates and distrusts the world and suffers from both acute loneliness and false

pride.

The need for a new renaissance is deeply felt by those sensitive and conscientious men and women who not only perceive
the dimensions of the crisis of our age but who also realise that only through conscious and cooperative human effort may
this crisis be met and probably even overcome.

The real attainment of any society can be adjudged by which of the following?

[Question ID = 12254]
1. The encouragement for acquisitive tendencies

[Option ID = 49014]
2. Total victimisation of conscientious persons

[Option ID = 49015]
3. The degree of freedom for pursuing more and more power

[Option ID = 49016]
4, None of the above

[Option ID = 49017]

5) Power and Possession have been central pursuits of modern civilization for a long time. They blocked out or

distorted the features of the western renaissance’ (revival) which promised so much for humanity. What people have been
and are still being taught to prize are money, success, control over the lives of others acquisition of more and more objects.
Modern social, political and economic system, whether capitalist, fascist or communist, reject in their working the basic
principle that the free and creative unfoldment of every man, women and the child is the true measure of the worth of
any society. Such unfoldment requires understanding and imagination, integrity and compassion, cooperation among people
and harmony between the human species and the rest of nature. Acquisitiveness and the pursuit of power have made the
modern man an aggressor against everything that is non-human, and exploiter and oppressor of those who are poor, meek
and unorganised, a pathological type which hates and distrusts the world and suffers from both acute loneliness and false

pride.

The need for a new renaissance is deeply felt by those sensitive and conscientious men and women wh per
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the dimensions of the crisis of our age but who also realise that only through conscious and cooperative human effort may
this crisis be met and probably even overcome.

Which of the following is one of the requirements bringing out the best in man?

[Question ID = 12255]
1. Money

[Option ID = 49018]
2. Success

[Option ID = 49019]
3. Power

[Option ID = 49020]
4, Understanding

[Option ID = 49021]

6) Power and Possession have been central pursuits of modern civilization for a long time. They blocked out or

distorted the features of the western renaissance’ (revival) which promised so much for humanity. What people have been
and are still being taught to prize are money, success, control over the lives of others acquisition of more and more objects.
Modern social, political and economic system, whether capitalist, fascist or communist, reject in their working the basic
principle that the free and creative unfoldment of every man, women and the child is the true measure of the worth of
any society. Such unfoldment requires understanding and imagination, integrity and compassion, cooperation among people
and harmony between the human species and the rest of nature. Acquisitiveness and the pursuit of power have made the
modern man an aggressor against everything that is non-human, and exploiter and oppressor of those who are poor, meek
and unorganised, a pathological type which hates and distrusts the world and suffers from both acute loneliness and false

pride.

The need for a new renaissance is deeply felt by those sensitive and conscientious men and women who not only perceive
the dimensions of the crisis of our age but who also realise that only through conscious and cooperative human effort may
this crisis be met and probably even overcome.

The western renaissance could not make total impact on today’s humanity because

[Question ID = 12256]

1. It was conceptually weak

[Option ID = 49022)]
2. It was against basic principle

[Option ID = 49023]
3. Conscientious men opposed it

[Option ID = 49024]
4. MNone of the above

[Option ID = 49025]

7) Power and Possession have been central pursuits of modern civilization for a long time. They blocked out or

distorted the features of the western renaissance’ (revival) which promised so much for humanity. What people have been
and are still being taught to prize are money, success, control over the lives of others acquisition of more and more objects.
Modern social, political and economic system, whether capitalist, fascist or communist, reject in their working the basic
principle that the free and creative unfoldment of every man, women and the child is the true measure of the worth of
any society. Such unfoldment requires understanding and imagination, integrity and compassion, cooperation among people
and harmony between the human species and the rest of nature. Acquisitiveness and the pursuit of power have made the
modern man an aggressor against everything that is non-human, and exploiter and oppressor of those who are poor, meek
and unorganised, a pathological type which hates and distrusts the world and suffers from both acute loneliness and false

pride.

The need for a new renaissance is deeply felt by those sensitive and conscientious men and women who not only perceive
the dimensions of the crisis of our age but who also realise that only through conscious and cooperative human effort may

this crisis be met and probably even overcome.
The author hopes that the present crisis can be solved by

[Question ID = 12257]
1. Devoted individual efforts

[Option ID = 49026]
2. Different political systems

[Option ID = 49027]
3. Purpose and collective human efforts

[Option ID = 49028
4. Spiritually developed individuals

[Option ID = 49029]

8) Power and Possession have been central pursuits of modern civilization for a long time. They blocke
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distorted the features of the western renaissance’ (revival) which promised so much for humanity. What people have been
and are still being taught to prize are money, success, control over the lives of others acquisition of more and more objects.
Modern social, political and economic system, whether capitalist, fascist or communist, reject in their working the basic
principle that the free and creative unfoldment of every man, women and the child is the true measure of the worth of
any society. Such unfoldment requires understanding and imagination, integrity and compassion, cooperation among people
and harmony between the human species and the rest of nature. Acquisitiveness and the pursuit of power have made the
modern man an aggressor against everything that is non-human, and exploiter and oppressor of those who are poor, meek
and unorganised, a pathological type which hates and distrusts the world and suffers from both acute loneliness and false
pride.

The need for a new renaissance is deeply felt by those sensitive and conscientious men and women who not only perceive
the dimensions of the crisis of our age but who also realise that only through conscious and cooperative human effort may
this crisis be met and probably even overcome.

The modern value system encourage the importance of which one of the following?

[Question ID = 12258]

1. Craving for power and possession

[Option ID = 49030]
2. Basic respect for all individuals

[Option ID = 49031]
3. Spiritual development of all individuals

[Option ID = 49032)
4, Spirit of inguiry and knowledge

[Option ID = 49033]

9) Power and Possession have been central pursuits of modern civilization for a long time. They blocked out or

distorted the features of the western renaissance’ (revival) which promised so much for humanity. What people have been
and are still being taught to prize are money, success, control over the lives of others acquisition of more and more objects.
Modern social, political and economic system, whether capitalist, fascist or communist, reject in their working the basic
principle that the free and creative unfoldment of every man, women and the child is the true measure of the worth of
any society. Such unfoldment requires understanding and imagination, integrity and compassion, cooperation among people
and harmony between the human species and the rest of nature. Acquisitiveness and the pursuit of power have made the
modern man an aggressor against everything that is non-human, and exploiter and oppressor of those who are poor, meek
and unorganised, a pathological type which hates and distrusts the world and suffers from both acute loneliness and false
pride.

The need for a new renaissance is deeply felt by those sensitive and conscientious men and women who not only perceive
the dimensions of the crisis of our age but who also realise that only through conscious and cooperative human effort may
this crisis be met and probably even overcome.

Which of the following is most opposite in meaning of the word ‘central’ as used in the passage?

[Question ID = 12259]
1. Lateral

[Option ID = 49034)]
2. Inadequate

[Option ID = 49035]
3. Peripheral

[Option ID = 49036]
4. Major

[Option ID = 49037

10) Power and Possession have been central pursuits of modern civilization for a long time. They blocked out or

distorted the features of the western renaissance’ (revival) which promised so much for humanity. What people have been
and are still being taught to prize are money, success, control over the lives of others acquisition of more and more objects.
Modern social, political and economic system, whether capitalist, fascist or communist, reject in their working the basic
principle that the free and creative unfoldment of every man, women and the child is the true measure of the worth of
any society. Such unfoldment requires understanding and imagination, integrity and compassion, cooperation among people
and harmony between the human species and the rest of nature. Acquisitiveness and the pursuit of power have made the
modern man an aggressor against everything that is non-human, and exploiter and oppressor of those who are poor, meek
and unorganised, a pathological type which hates and distrusts the world and suffers from both acute loneliness and false

pride.

The need for a new renaissance is deeply felt by those sensitive and conscientious men and women who not only perceive
the dimensions of the crisis of our age but who also realise that only through conscious and cooperative human effort may
this crisis be met and probably even overcome.

Which of the following is not a synonym of word ‘compassion’?

[Question ID = 12260]
1. Benevolence
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[Option ID = 49038]
2. Provoker

[Option ID = 49039]
3. Kindness

[Option ID = 49040]
4, Empathy

[Option ID = 49041]

Topic:- SEMR BED C

1) srgf AT v afeaf srscfAa Frdt e, ST FT A a0 H 1A Fgd FTRATo g i gg vaa g Fraraadi g; g9
AT ATAT & (o AaT-aa7 A7t & Ay 50 4 fSoraar ga Grar g, sud sl afas gradaw @9 & ¢ g, wreg anwr fore
AL TACTZT R, ST ATAT G717 F T47H,  g9T¢ a7 99 8, 7 v uF & ofys arord vy @it ¢ afxay & Fadwar 73
g I 3 oot gTOrst § F9F TAUS T HIA, FAF TATS] D A g SeATH g FAdt g T ITHT e T e aveqaq # Av4°0
s9al # Frav ST vdtF 8 T A ArarA FT AT € ISP AT {7 ATAT A0S A 9 AUt TAAT F A AT IHA, wra a7
=TT, aramd sz giwrd wRTiRT Yt & &w: srgl wrwrsH w7 e grav |, 981 areaq |, Aty w9t # gy St Hwa g, 999
q1at AT =T F1ET fraw grar § aar frwarst F f2dt g uwar a8t 12 afds yera gresdt @ sagfe | ararel & daw
Ay gad a2 i g T At 9 97 ot wreaATHt HeIT | WA FIAT , T ATT UHAT FT 997 27 FAardy shewea @

FATA AraTd fSraT & It /@ sy, gark fafos g2 ot 71 9reea i a9 ITAT T IETT A1qAT ATLANT A @®i F1 qgq frar @
Tg WHTAT T & IF 3 Fa= st & w71 |/ 7Rz e T wg ord, afew ared #°F = AT § W I9S 479 9gA AT IAAT
Hiagt #1 9f g araret ® SArUeer ey I D UF THFCFHT AT AT AT AU AT IHT A AATE AT TAF ATHT R
HACTE TTAA F1 T5GT IAA BT TE ¢ P AT F1 =7 97973 | FAT T ET©, S HIA-H17 U4 9GF g (oA

Ffaal seaadty & a9 Fr7-97 =y agf aq@ar A FTET §

AT ® o eq19 w7 S Fg7 w1 Rawr €2

[Question ID = 12261]
1. F21 a7 At=at A7 o= AT 2

[Option ID = 49042]
2. w2t a7 amrd e 9T

[Option ID = 49043)]
3. W&l 9T "Rl 7 AT 2

[Option ID = 49044]
4, =gt Efea § Ff vwar G Er

[Option ID = 49045]

2) wrgl W &Y Afyat srw fare st @, ST AT FY qud T ¥ 1 FgR w7 R @ e gz Raw arw fraraadt &; g0
IHT ATAT & (9 AGT-HA7 AfqT § A7 F F Horaar gra rat g, 98 sl AfqF QU aTa @19/ ¢ Fooeg, wrea aner o
T H QAT TET R, SR ATAT G717 F 74,  g9T¢ 9473 79 §, 7 v vx & arfeys arord gwy 1t @ afzay 1 Fawar g
2 T 3 oot aTrst § a9 F TATE HT A, AT TATRN D NG IeATH (T TAAT & AT ITHT TCETH (a7 areaa | 747
F7al # Fravr T aAF 8 T T wraTH FT AT €SP AT {7 A7A7T TAwSE F 79 A7t FAAT F A AT IHA, wra a7
far=rre, srerrd st ofwrd warfyw Srdt @ o gl wrwrst &1 ey rar g, a8f areag A, fAfyw swEt R g £ fawd g, R
w1a1 T e w18 Frera grar § agv fowarsi § fdt gs uaaragf ag s voga gresdi g swgfe @ wrwrsi & /e
Ao g9 92 dd g st dTat & o7 o AreaArdt AEIT H WA FIQ@TVE, T ATCANY CHAT HT G494} T27 FAavt e qwea g

AT arard gt g st & s, gard iy wQet w1 areeafs ara Iaar € apar srgar qreety daw Fraga A |
IE AHTAT ol & T% 2 Daa ot & w91 & 7fg 57 @ e, % 917 91 or7g 979rH F #F TR A77 9 AT IR
Hiaat &1 =t g qrare F SrUeer F AeEw 1 T TF TFFHT AT AT FF¥ AT AT IFTEA AATE AT TAF ATIT H
WITC T ATA HT ST ITTFA 7 75 & P 9172 &7 ey wraret & #97 Y @1 2, I9F FIA-519 WF dF@F g Fradt ghat Ieagdiy
& a7 FI9-°1 A= 98 Tqaar vF FTE g

AAHAT ETH FIT 27

[Question ID = 12262]
1. o8 #49 921 af4] 997 ¥ =t g

[Option ID = 49046]
2. FE ¥ T2t Aregt wrow 7 et

[Option ID = 49047]
3. et AFFAT § UFHAT EAT

[Option ID = 49048)]
4, T T, TATO F4T 47 St vF T wfew wrord vwfEr S &

[Option ID = 49049]

3) wigl WT e afyat srax g ardt &, STsA ST A7 o F 1 757 FTRaa g shcgg faa g fraraadt &; g9

AT ATAT & (% AGT-HAT AGT F AT F F oraar qua iav g, 568 sl AfqF qra aTw @19/ ¢ ey, wrea aner e

T QAT TET §, SR ATAT G717 F €477, F g97¢ a7 9 8, F7 12 uxF &/ ofys arord gay g1t & afzay 1 Fawar g9g

2 % F oot grerelt F oA E FAIE 7 /YT, FAF TAIE ® Atg IFATH oy @t @ st 3w vreaiior fugghgETs # AT

FA9el ® AT FTLT TAF 2 TLT T ATHTSH FT AT & ITD WAL AT TTAT TAGRK]T & T GToAT (77 3 Al Ensggeduniag
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far=re, swad s orwTd gwTfRe YAt @ wrw: orEl wrwTet &1 frww @rar ?, g8t areag &, Afyw wwoet R ga & frad @, 99
w1a1 T e w18 Frera grar § agv fowarsi § fdt gs uaaragf ag s voga gresdi g swgfe @ wrwrsi & /e
Ao g9 92 dd g st dTat & o7 o AreaArdt AEIT H WA FIQ@TVE, T ATCANY CHAT HT G494} T27 FAavt e qwea g

AT arard gt g st & s, gard iy wQet w1 areeafs ara Iaar € apar srgar qreety daw Fraga A |
IE AHTAT ol & T% 2 Daa ot & w91 & 7fg 57 @ e, % 917 91 or7g 979rH F #F TR A77 9 AT IR
Hiaat &1 =t g arare F STrUeer F AWeEw 1 T TF TFFHT AT AT FF¥ AT AT IFTEA AATE AT TAF ATIT B
AT A T FT F5GT IUN ST T 2 % 9777 #7 o= wywrsff & #97 g7 CET R, STH F14-F149 VR d@® ¢ Fora+dt gt
IFAGATT § AT HIA-81 FA=TTHTI0 98f IaaT A FTET 8

TEQT THTT R AT HT AT (Haa AT 75 82

[Question ID = 12263]
1. 7HATH |

[Option ID = 49050]
2. ATTH

[Option 1D = 49051]
3. fd =T

[Option ID = 49052]
4, =T a

[Option ID = 49053]

4) wrgt ot 2 AfRat s fua et 2, ST AT FT v A F A wgA T AT Mgz Raw g Fraraadi g; gw
AYT ATAT & (% AGT-HAT ARGT F AT F F oraar qua av g, 568 1 AfaF ra aTw q19 # ¢ e, wrea anst e
T QAT TET §, SR ATAT G717 F €477, F g97¢ a7 9 8, F7 12 uxF &/ ofys arord gay g1t & afzay 1 Fawar g9g
2 % F oot grerelt § oA E FAIE 7 WL, FAF TAIEN B Atg IFArH oy @t @ st I+ yreafiow fraw areaw A ArAv
STl ® AT ST TdF ¢ I ST ATATA KT AT 2 TS ATa< #F ATAT I9qsT § T94 ATAT SA7AQAT F A(G AT IHA, 777 3T
far=rre, srard s ofwrd guTfRw YAt @ o gl wrwrsHt &7 frww rar g, Ff areag A, fAfyw sw0Et R g £ fawd g, swR
qrat T =T FTET Forww grar § aar Srwarsi § @t g2 uHar 95t @ Af4F veaw gr IsdT € Ol | ArwTs & |aw
s gaq 78 o1 g AT rat & 97 7T ArLAIATHT AT R/ WA FLAT €, TE ATLA TS THAT FT 979 27 fyarr e qea ¢

AT wraTd gt & aft & srtft, gark fafas gort &1 oreerhies a9 ITar & aga7 AreAr 9Tty dgwt Fr g frAr |
Ig ST ol & T 2 daw ot & wrar & vz w7 @ e, afes 91ea 91 srex Arare F 7 9% A9 0g W AT gAY
Hioat &t 9=t g7 ATITA F ATACA F ATEA EIA 1 TH THICHT AT AILATT A ATHA AT THES G AATE AT Ted T AT H
T TE I HT =T ITqF 7 TE & P 72T &7 o= wraret & #47 gY TET 2, T4 F19-519 W8 F@F & Drad gt Ieq@dy
& g7 FYT-°1 A9 T8 THAATATH FT R 8

‘qug’ T fagdard @
[Question ID = 12264]
1. a7

[Option ID = 49054]
2. wiEE

[Option ID = 49055]
3. 9

[Option ID = 49056]
4, 97

[Option ID = 49057]

5) gt W aTafgat i ra ardt &, STeAT T A9 o ¥ 1 Fg7 sTRETO g e g faa o araraadt &; g9
TIYT A1 § O sawr-gaw afgt € ara 5@ @ Soraar g rav e, o8 s afas pradaw wra & g feg, wrew anw e
T YA IET S, SR ATAT GTH & €F7H, 3 GHATC a7 79 ¢, F7 12 v & arfeys wrord gy g1t & afzat 1 Fdwar g
2 % F st grerelt F gA®w TA9ET #7741, FAF TA0E ® g A9 oy gt @ s sawr yreeafiow frew aveas A ArAr
saqal ® fraT T vdTF ¢ T T ATUTH FT AT @ IR WA WY ATAT AATRN W qGA ATAT TAQT B A G AT IHA, AT A;MT
for=rre, arard s oiwrd gaTfET At & a9 gl wrarst &7 fyrww grav g, 9l areag ®, fAfyw swEt R g i fAwd g, s
qrat AT T w1 orww rav € aar frwarsi F Rt g€ uwar agt 19 afys verg @Y 9sdt @ sw gty | wrwrst @ gww
AT Faq 98 e ¢ AT Arat & 7 AT AT FEITH WA FLAT &, T WA T THaT FTHIq 987 fRurdt shrava ¢

TATE ATSTT g & a0 & Srtft, gae ot we ot 7 oo s 79 STAT & T2qAT ATCAT ATLCANT AGHT #t aga {1 4
Fg wwTar T g I @ Paw srot &Y qrar @ 9fvrg e T g ard, afew qrea # aeg qrarst F 39 av9 qg S s A
Hfoat #1997 g7 79T ® TTACU B ALET EIA BT TH TR HT ATGAA NS FF FI7A AT THE GIA AATE AT T4 F ATITH
HITT TG ATA HT T=FT ITYA &1 U5 & P A72q 1 o177 Araral & #47 g7 QT 8, 9% F19-519 TR F@F g orad’ et seday
® a7 F1-°1 FA=reTa T8 vqaqar va s @& g

TELT TATA FT ITLH e+ 8

[Question ID = 12265]
1. 74t F Frdroar

[Option ID = 49058]
2. ATIT FEAT 7T

[Option ID = 49059] .
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3. ATIT S AET
[Option ID = 49060]

4, ATITE AR
[Option ID = 49061]

6) gl AT AT ATEAT HT AT ATAT 8, ST EATA T A9 U F VS wga sFTRATT e e g vaa gty fraraadi g; g
AT ATAQ § (6 AGT-F7 AT & A7 F F Horaar gra av g, 68 gl ATAF QA A A9/ ¢ Foveg, w7 aner e
TALH TACTET S, SR AGAT GTH F €77, 3 g9T¢ a7 79 §, o7 vx ux & afys arord gay 1t @ afzat 7 Frawar g
g I 3 st grorst § oA ® STAIS 7 AIA, FAF TAqS B Arg IeArq forg @At @ T ITwr greais fraw aveqaa # Av4Avw
s9sl & Fravr FT T avdtE & 7t grer wraTS w7 AT ¢ TS Ava< ot ATAT AAwET # F9A ATAT AAAT F @At T IWA, wrA <
far=rre, srerrd st ofwrd waTfyw YAt @ o9 syl wrwrs w7 frww frar g, agf aveag A, fAfyw Sw0Et R gy £ e g, s
w1t T =T w1 Prerw grar € o971 Praaret § fdt g uhar gt g afAs yaa qrIsdt § O | Ararsi & /9w
s qga@ 92 1 g sttt 9 97 ot wreaATHY FEIT / AT FIAT , T ATHY UHAT FT 997 27 Fardy shewra @

FATA ATaTd foraT &Y It /@ sy, gar fofoe g ot 7 97T a9 ITAT T IETT ATYAT ATLANT d@H| 1 qga fra1 |
FE AHTAT ol & T 2 daw ot & wrar & vz S5 @ e, 3% 913 &1 sr7x warare F #F I9% A9 9+ AT IAAT
Hfrat 1 7=t g7 ararel F SATUCw B AET 1 T TF TFFHT AT AT FF AIA AT IHFS FA AT G AT TAF ATIT B
T I T FT T=GT IUN T 7% 2 % 7177 #71 o= arwvat & 97 7 TR, SOH FIA-F17 TR d@F ¢ oA+t gt Isa@dy
© g7 FI-°1 fA=18TT T8 YT AT KR8

AT THATHT a8 T=7 fAardt shzaea g

[Question ID = 12266]
1. A=t

[Option ID = 49062]
2. o
[Option ID = 49063]
3. AT F 5
[Option ID = 459064)]
4, ATTAATHT

[Option ID = 49065]

7) wigt "Wrar afyat s ra ardt @, STTATT FT A9 2o/ 1S Fg sTRETI g g faw R araraadt §; g9
IHT ATAT & (% AAT-HAT ALIT F |ATT F F Hraar qua iav g, 568 s ATAF QA aTA q19 /A ¢ ey, wrea anst e
T E AT ET R, SR ATAT G717 F £7H, 3 GHTC a7 79 8, o7 w2 uxF & ofeys arord gwyr 1t @ afzay 1 Fawar gg
2 I ¥ st grerelt § A w TAUE F7 /YA, FAF TAIEN B g IFATH oy wwet @ s 3w yreeafios furaw aveas # qrAv
STl & AT ST A ¢ I A ATATH FT AT 2 T ATA< "V ATAT AqSN F FHA ATAT SAAAT F AG AT IHA, AT AT
far=rre, srerrd s ofwrd waTfyw Srdt @ o gl wrarst w7 frww frar g, af aveag A, e g9t R gy £ e &, sWR
arat AT =T FTE Forew grar § aur Orwarst § &4t g2 uwar a5t g afys veaw grIsdi € sogfe | wrorst & daw
oy gaa 78 o1 g T frat & 97 #F ArITATHT AT/ WA FLAT €, T ATLATT UHAT FT O 87 fAqrr e qwea ¢

AT wraTd gt & at /@ srtft, gard fafrs g ot &7 areeafes 919 ITar & T797 AreAr 9Tty dEw #r aga fyAi |
Ig ST ol & T 2 daw qudt & wrar & 7F7E 5T @ 9e, 7% 977 1 o7 A9t F 7 IR A79 9+ AT IAAY
Hioat 1 ==t g7 Arare F SATTCU D FAET 1A &1 TH THC KT AT AT HF A4 AT AFS EIA AAT G AT TAF ATIT H
T TG ATAT HT ST IT4F 1 75 & P 917ea 7 ore wraret & #97 g QT 8, I9% F19-519 08 @F & orad’ ghaf Ieagdiy
& agT F19-°1 A8 T8 TqAAT ATH FL IR 8

‘HTITATHD § TYH aA/TA©

[Question ID = 12267]
1. 79

[Option ID = 49066]
2. #=raTE

[Option ID = 49067]
3. 5%

[Option ID = 49068)]
4. fa7

[Option ID = 49069]

8) sl WTaT afyal srwx ra a1t &, ST AT FT 99 Sq § i Fga FTRaa g shxgg daa g At araagi §; g0
IYT 4193 & 0% ev-gaw afgt 4 ara 5@ @ Sraar grr rar e, S8 s afas gradae wra & ¢ feeg, wrea anw g
TATH YACTET S, SR ATAT GTH A €FTH, F GHATE a7 §9 §, F7 02 v & a1fers wyord gy 1y & Afza® & Rradwar g8
g % 3 Aot gTOSA F A ® AAUET FTAICHA, AT TA9a1 & A g Ioq17q {0Q FAdT 8 T ITAHT Ireeq s (e areqqa # 9147
saqal ® Fraa ST adtw & I v ArOrH FT AT 2 ITF AvaT #¥ ArAT FwSt F FwA AvAY SrAqv B Ay ;T IHA, Ar7 ;A<
for=re, aramd sz ofwrd wRTiET At & o gl wrwTst &7 fyrww rav g, 9l areaa ®, fAfyw swEt @ g ff fAwd €, s
arat AT A=A w1 raw rar § wor frwarsi F Rt g uwar gt 19 afys vergw @Y 9sdt @ sa gy | wrwrst @ gww
S gad a2 a1 g ;< dTat § 97« Fra ATt FeIT | AT FLAT @, T€ WILA TG THAT FTH997 =7 vt shcasa g

TATET ATETC 3T & a5 & st gare fAfre we ot 717 oreeales 79 ITAT & TEq7T ATCAT ATLANTT A G 959 fa=t &
Tg AHTAT TE & I T faer st & wrar /@ ofrg @irwe T g ord, afes wrea Y e 9Tt F o 9%+, égﬁegeduniaE
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Hiaat #1 T9f g aruret ® Srreer B ey T D F TFCHT AT AT FF AU AT IHT A ANTE AA TAF ATIT R
AT I I FT 5T I 3T 7% & T3 7137 F1 aor=7 roval & FAT T @I R, A FIA-F17 T8 d&@F ¢ DA+ ghat seag+17
g TGT FI-HT A=ITTHTU 981 ILAATATH FCET &

TeqE FT A« a53 8

[Question ID = 12268]
1. 772

[Option ID = 49070]
2. TTrE

[Option ID = 49071]
3. AHFH

[Option ID = 49072]
4, fame

[Option ID = 49073]

9) srgl At T AfEAT srFpT a7t &, ST AT FT 97 A A S Fga FT AT ¢ e gg daw A wraraadi g; s
IYT ATAT & T Aa-aaw Afeqt  qra s @ Soraargua @rar g, s98 s afas gradma qaa & ¢ foeg, wreg anw oy
I | AT TZT R, SR ATAT G717 F =474, & 9970 qAT X 79 g, fo47 v uF & orfys arord sy vt 8 afxat & FAawar g3
g I% 3 oot gTorsl § a9 TS 7 EIH, FAT TAqS] D A g IeArq g FAdt & ;T ITwr et e aveqa # Av4Av
saqsl & Frav sTr avdftw g It gra wrarA FT AT ¢ TS v ot ATAT FAwEt F FEA ATAY AAAT B g T IWA, v <
=Y, swad s wrwTd waTiRT gt § orw: set wrwren &7 faww grav |, 98 areaq ®, APWw swoSh # g € e €, 999
qrat AT =T FTET Praw grar § aar frearat 7 fydt g uwar a8t 12 afys yerg gresdt @ sagfe | aroral & dww
s qa@ 72 e g T gt F 97 o wreaArHt AT/ WA FIATE, T ATCAY THAT F7 997 27 Fyardy shrwea @

AT arard Rrat @ Fft @ s, gard iy w2 et w1 areeafs ara Iaar € agar srear qredty e #raga A |
Fg ST T ol & T 3 daw qut & wrar & wig 5T @ 9, afew a1 1 o7 Arars F 7 I9F 79 ugw AT IgAAr
Hiagt #1 g9t g araret ® SArUCer B ET P D TF THFFHT AT AT FF AR AT IFT A AATE AT TAF ATHT R
T I I FT 5T T BT T & 7% 97177 F1 or=7 rwvaRt & #9477 (BT ], SAA FIA-517 @ d&@F & DA gt seagy
g a7 FY9-°7 =T 98 yqaar e s §

gaTfga asg Framcud g
[Question ID = 12269]
1. g

[Option ID = 49076]
2. fa=ram g

[Option ID = 49077)
3. HHTAT g4

[Option ID = 49074]
4. T g

[Option ID = 49075]

10) wrgl ot 21 afyal s s It &, ST EATH 77 oy g A v Fga w1 AT @ e yg Raw Fama M araadi g; g0
AT ATAA § (6 AGT-F7 A7t & A7 57 F Horaar gra rav g, 568 sl ATAF QA aTH q19 # ¢ Foveg, w7 anwr e
TALH TACTET S, SR AGAT GTH F €77, 3 g9T¢ a7 79 §, o7 vx ux & afys arord gay 1t @ afzat 7 Frawar g
g I 3 st grorst § oA ® STAIS 7 AIA, FAF TAqS B Arg IeArq forg @At @ T ITwr greais fraw aveqaa # Av4Avw
s9sl & Fravr FT T avdtE & 7t grer wraTS w7 AT ¢ TS Ava< ot ATAT AAwET # F9A ATAT AAAT F @At T IWA, wrA <
far=rre, srerrd st ofwrd waTfyw YAt @ o9 syl wrwrs w7 frww frar g, agf aveag A, fAfyw Sw0Et R gy £ e g, s
w1t T =T w1 Prerw grar € o971 Praaret § fdt g uhar gt g afAs yaa qrIsdt § O | Ararsi & /9w
s gaa 78 d1df g T rat & 7 9 ATCTATHT AT/ AT FLAT €, TE ATLATT THAT FT 97 87 fAqrr e aea ¢

FATA ATaTd foraT &Y It /@ sy, gar fofoe g ot 7 97T a9 ITAT T IETT ATYAT ATLANT d@H| 1 qga fra1 |
FE AHTAT ol & T 2 daw ot & wrar & vz S5 @ e, 3% 913 &1 sr7x warare F #F I9% A9 9+ AT IAAT
Hfrat 1 7=t g ararel F STTUCw B AET 1 T TF TFCFHT AT AT FF AIA AT IHFS FA ANTE AT TAF ATIT B
WITTTE ATA HT AT ITU4F 21 75 8 P w172 & e wraret & #97 gY QT 2, I9H FI9-519 WG F@F & Rradt ghat Ieagdiy
® T FI-°1 fA=18TT T8 ¥qaqar T FTE g

faw & / FY7 |7 ‘a7 T F7oRigATH TE L2

[Question ID = 12270]
1. AfedAT

[Option ID = 49078]
2. fRerfr

[Option ID = 49079]
3. =TT

[Option ID = 45080]
4, darfErT

[Option ID = 49081]
[ ]
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Topic:- SEMR BED D

1) The Foujdari system was abolished in which of the following years?

fArafafaa & 8 fra o wioeTd 997 FT99TH FT HITTAT O
[Question ID = 12271]

1.

1775

[Option ID = 49082]
1781

[Option ID = 49083]
1809

[Option ID = 49084]
1810

[Option ID = 49085]

2) What is the full form of ATMA?

ATMA &T 99 &9 4T g2[Question ID = 12272]

bt ) =

3) “The Language of Preamble” of the Indian Constitution is taken from the Constitution of

1T g g &1 "geara A # AT, #® gfgra & AT 1§ [Question ID = 12273]

.hl..\.lh.?-h

All India Technology Management Agency/ &= T3 FT=ITTAT T2+ vsi#T [Option ID = 49086]
Agricultural Technology Management Agency/® T S=ITfRrT W= s+t [Option ID = 49087]
Agricultural Technical Management Agency/®d TFHT#T Tag= w=#T [Option ID = 49088]
Agricultural Technology Maximizing Agency/® T FT=ITfirht ATeFaH F7or wa#T [Option ID = 49089]

America/sTH{=T [Option ID = 49090]
Canaﬁtafr“ﬁrm [Option ID = 49091]
Australia/==={=4T [Option 1D = 49092]
Ireland /=72 [Option ID = 49093]

4) Where did the formation of Azad Hind Fauj take place?

AT FRvT BT FT T qTIAT Fg1 g% 91?[Question ID = 12274]

.hl.uh-J—-A

. Thailand/aTZ= [Option ID = 49094]
Singapore/ T [Option ID = 49095]
Russia/=d [Option ID = 49096]
Germany/sH+T [Option ID = 49097]

5) When Tribal are displaced from their land, they

Lose nothing

Il. Lose their House

lll. Lose their source of income

IV. Lose their tradition and culture

Choose the correct option out of the following:

w7 arfeardt gt T & PeaRaga g, ¥ a
I g Hr gl @ra

NITHTILZE TATATE

N, AT AT FTHITETIT

V. FoAt giaer st e e FrErIq &
afarfya faseal & Fafi g

[Question ID = 12275]

T

Il only/#F=+ II

[Option ID = 49098]
I & 111 only /1l 3 111

[Option ID = 49099]
I & IV only/1ll &= IV

[Option ID = 49100]
I, I and IV, 11 &7 IV

[Option ID = 49101]
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6) The plateau

I. Is rich in mineral deposits.

Il. May have small summits and a broad base.

lll. May have one or more sides with steep slopes.

IV. Is a flat-topped table land standing above the surrounding area.

Choose the correct answer from the options given below:

T3TT

LR AeRA aqg

I.Ee fFirgT sk T ATIF sSrgTTgr aaha 8

0. GET ETATAT AT TF T ATYF TATE T aAFadT g

IV. YT ® 47 P ST vF qure-ofid areft 2awrde g
FrafafRa & & aft Rreer gfa:

[Question ID = 12276]

1

7) Which of the following pair (building of Mughal period and Place) is not correctly matched?

frefafaa ® @ st 91 rET (Gaasta ;T eq17 F1 TH7C7) T A Fora 7€ 22[Question ID = 12277]

-hLAJH—-*

[, 11, 1l

[Option ID = 49102]
I, v

[Option ID = 49103]
L, IV

[Option ID = 49104]
LY

[Option ID = 49105]

Shershah’s Tomb - Sasaram /47 41Tg T Ha7T- T8 [Option ID = 49106]
Humayun s Tomb - Delhi/ZaT4 #1 7F=71- =T [Option ID = 49107]

Bibi ka Magbara - Aurangabad /=t #T1 g=+1- #i79raTs [Option ID = 49108]
Jahangiri Mahal - Burhanpur /523 fi¥1 #g#- g7 [Option ID = 49109]

8) Which of these is known as ‘golden fiber’?

TAH & FF@ TreeT WTEaT @ ATH & STAT SITAT 22[Question ID = 12278]

1.
2.
3.
4.

Corn/F19 [Option ID = 49110]
Jute/5= [Option ID = 49111]
Rice/=m9+ [Option ID = 49112]
Wheat/¥ [Option ID = 49113]

9) When was the first amendment in Indian constitution was done?

HILATT @ fagTa # gg«T g avaT £ FHI7 777 91?2[Question ID = 12279]

o bed P —

18t June 1951/18 7 1951 [Option ID = 49114]
19t July 1952/19 5=TE 1952 [Option ID = 49115]
7t July 1951/7 =< 1951 [Option 1D = 49116]

12th August 1952/12 %rsr&F 1952 [Option ID = 49117]

10) Which Article of the Indian Constitution abolishes Untouchability?

AT € AT 7T A7 ATFT AE[LIAT FT THTH FLAT g2[Question ID = 12280]

Lt B =

Article 18/#=%= 18 [Option ID = 49118]
Article 14/ %% 14 [Option ID = 49119]
Article 15/#F=%% 15 [Option ID = 49120]
Article 17/#=%= 17 [Option ID = 49121]
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